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1.2

iy

efficiency vs dxy(PV)

)
I
@
0¥ =I5 =10 5 0 1520
TP dxy(PV) (cm
[—— DQM_original_step. yKrT)é' )
—e— DQM_mKkFit_step2__] pIZOO elaZpOloZpS
—— DQM_angle_step2_ pt200_eta2p0to2p5
— —+— DQM_fast_step2__pt200_eta2pOto2p5
[Efficienc] —— DOM_pixélCPETempiate _step2__pt200_eta2p0to2ps
s
[2
4
x
o
"
>
>
Q
c
Q
o
e
[}
)
I
[hg
OB 060402 0 02 04 06 08
TP dxy(PV) (cm)
S 0.5
$%.009F-
kel E
@.008f
> E
3 .007F-
2 F
2.006F
5] E
0.005F
0.004F
0.003f
0.002F
0.001
o OF
S
@
[0)c| S R
%0 20 -0 0 10 20 30
TP dz(PV) (cm)
< 0.0k

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


